CHAPTER 10 REVIEW

EXERCISES

1. They have the same formula for volume: V' = BH.
2. They have the same formula for volume: V' = wmm.
3. 6240 cm3. The solid is a rectangular prism.

V= BH = (bh)H = (12 * 20) * 26 = 6240 cm’
4. 10297 cm?. The solid is a cylinder with radius

7 cm.

V=BH= (m)H= 7+ (7)? - 21 = 10297 cm?

5. 1200 cm?. The solid is a rectangular prism with a
piece missing. First find the area of the base of the
solid by subtracting the area of the base of the
missing piece from the area of the complete prism.
The base of the missing piece is a rectangle with
dimensions (12 — 6) cm by (12 — 8) cm, or 6 cm
by 4 cm. The base of the complete prism is a square
with side length 12 cm. Use these measurements to
find the area of the base of the solid.

B=(12-12)—(4-6)=144—24= 120 cm?
V= BH=120 * 10 = 1200 cm’
6. 32 cm?. The solid is a square pyramid.
v=ip=-3¢-9-6=5m
7. 1007 cm?. The solid is a cone. Its diameter is
10 cm, so its radius is 5 cm.
V= me = Wﬁﬂmvm = Wﬂ. - (5)% + 12 = 1007 cm’®
8. 22507 cm?. The solid is a hemisphere.
V= Wﬂww = Ws. « (15)3 = 22507 Q.:w
9. H = 12.8 cm. The solid is a triangular prism. Each
base is a right triangle with shorter leg of length

8 cm and hypotenuse of length 17 cm. Because
8-15-17 is a Pythagorean triple, the length of the

longer leg is 15 cm.

V=BH= Awwrvm

768 = Aw .8 - va
768 = 60H
H=12.8 cm

11. r = 12 cm. The solid is a cone.

20. 52.4% of the box is filled by the ball. H = 2r
because the height of the box is the diameter of

10. h = 7 cm. The solid is a trapezoidal pyramid. the ball. g &
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896 = wANiNo + vav 24 21. Approximately 358 yd>. First find B, the area of
1 the base of the slab floor. This is the area of a
896 = Nw © 3224 70-by-50 ft rectangle minus the area of a 40-by-
896 = 128K 15 ft rectangle. (70 — 30 = 40; 50 — 35 = 15)
h=7cm B=70-50—40 - 15 = 3500 — 600 = 2900 ft?

Convert 4 in. to w ft and find the volume of cement
for one floor.

1 1
V =%BH = (wr?)H
3 3 V=BH=2900 - + =220 g5
1728w =%+ 12+ 36 >3
3 M%%o%o_:am of ten identical floors is SA% mwv =
17287 = 12712 a— .
2= 144 Convert this volume from cubic feet to cubic yards.
F= 13 o lyd=3ft,solyd®=(3-3"-3)ft2=27f3
. L 29,0 1 yd®
12. r = 8 cm. One-fourth of the hemisphere is missing, uoo ft> - N%\mw ~ 358 yd?
so the solid is three-fourths of a hemisphere. Approximately 358 yd? of cement will be needed.
_3(2 =
= NAMs.wuv = Ns.wu 22. No. The unused volume is 987 in.3, and the volume
N 1 P of the meatballs is 3277 in.3. First find the volume of
2 one meatball. Each meatball has a 1-inch radius.
r3 =512 _ 4 4 .
, a\BmEv&_ .| M “ P Wﬁ. in.?
=vV/512 =8
r cm The volume of 2 dozen meatballs is N»@ﬂv =
13. 960 cm?. Let a, b, and c represent the three dimen- 327 in.3. The unused volume is equal to the volume
sions of a rectangular prism. Then the volume of of a cylinder with radius 7 in. and height 2 in., so
the prism is abc. If each dimension is doubled, the Vinused = T ¢ (7)? * 2 =987 in3,

result will be a larger rectangular prism with dimen-
sions 24, 2b, and 2¢, so the volume of the larger
prism will be (2a)(2b)(2¢) = 8ab, that is, eight
times the volume of the original prism. In this case
the volume of the original rectangular prism is

120 cm?, so the volume of the prism obtained by
doubling all three dimensions is 8(120) = 960 cm?.

The unused volume in the pot is a lot more than the
volume of the meatballs, which is the volume of the
displaced sauce, so the sauce will not enill Aver

28. 1607 units®. The volume of the solid will be the
difference between the volumes of two cylinders,
with R = 6 units and r = 2 units, and each with
height 5 units.

V=aRH—-7mr*H=7-(6)2*5—m7"*(2)+5
1807 — 207 = 1607

The volume of the solid is 1607 units3.
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